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Instructions to the.eandidatésy:

1) AnsyerQilorQ.2, Q3or Q.4

2) Answe/to theaall questions should be written in single answeéf-book.

3) Neatdiagraiis must be drawn wherever necessary.

4) Figurestoitheright indicate full marks.

5) Use aofNogarithmic tables, slide rule, Mollier charts, elegironic pocket calculator

(non_programmable) and steam tablesis allowed.
6) Assume suitable data, if necessary.

Q1) @ Define i) Specific Gravity iiyySpecific-'Volume iii) Vapor pressure
Iv) Mass Density v) Capillérity vi) Wiscosity vii) Surface Tension

viii) Specific Weight. [8]
b) Derivetheexpressionwith tsual potationsfor thetotal pressureand centre
of pressure on inclineg ptane sutface. [7]
OR
Q2) @ Cadculatethe specificweight; specific mass, specific volume and specific
gravity of aliquid havingavolume of 6 m® and weight 45 kN. (5]
b) Differentiate between Rea Fluid and Ideal Fluid. [2]

c) A 3.6 mby 1.5 m wite rectangular gate BC is vertical and is hiriged at
point 0.15 m belew'the centre of gravity of the gate-Ihe totadepth of
water is6.1 mWhat horizontal force must be applied-atthe bottom of the
gate to the keep the gate closed? [8]

Q3) @ Thewaterisflowing through atapering pipe having diameters 300 mm and
150 mm at section 1 and 2 respectively. Thedischargethrough the pipeis

42 lit/s. The section 1 is 10 m above datUrn-andection 2 is 6 m above

datum. Find the pressure at section 2 if ghaivat section 1is401 KN/m?. [7]

b) Derive the continuity equation for three-dirniensional flow with usual
notations. [8]

OR
P.T.O.



Q4) 8

b)
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Explaininbrief with neat sketch: i) Vq;g;ri meter ii) Pitot Tubeiii) Rotameter.
Q, [3+3+2=8]

Y ;
&xy and 0= (y* —x*). Determine the
W
velocity components at trrggzi nts(1, 3) and (3, 3). Also, find thedischarge
passing throug&oi given above. [7]
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For atwo-dimensional flow
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